BHARAT COKING COAL LIMITED

(A Subsidiary of Coal India Ltd.)
Regd. Office - Koyla Bhawan, Koyla Nagar, Dhanbad
Kustore Area,
P.O.- Jharia, Dist. Dhanbad.

UNDER JURISDICTION OF DHANBAD COURT ONLY

NOTICE INVITING TENDER

Tender No. - BCCL/KA/PUR/2011-12/198 Date: 19.09.2011

DUE DATE & TIME FOR SUBMISSION : 28.10.2011 Upto 1 PM DUE DATE & TIME FOR OPENING : 28.10.2011 At 03 PM

REQUIRED AMOUNT OF EARNEST MONEY : Rs. 8,000=00 COST OF TENDER PAPER : Rs. 1000=00

Sealed Tenders are invited for following items with terms and conditions details hereunder:

Sr. No.	Description of Stores	Quantity
01	Brake lining in segment size 670 MM x 220 mm x 40mm.	16 Nos.
	Having 16 mm threaded holes in each segment 4 Nos	
	holes in each segment.	
	As per DGMS ciruclar No03 attached herewith .	

- 1) Tenders are invited in duplicate for the supply of tendered items form those proven/Bonafide manufacturers and their authorised sole/selling agents/distributors/dealers proven means those supplier. Who has already supplied similar types of items in any govt. concerns, PSU etc.
- 2) Tenders must be submitted in one sealed envelope containing separately two sealed envelopes. The first envalope should contain TECHNO COMMERCIAL BID along with Earnest Money . Tender documents down loaded by website must enclose tender fee with techno commercial bid. The Second envelope should be with price bid only. Kindly note that on each envelope must write tender number and due date of opening.

Kindly Note that on due date the techno commercial bid will be opened. After acceptance of techno commercial terms the price bid will be opened later on .

COMMERCIAL TERMS & CONDITIONS.

- 1) PAYMENT TERMS: 100 % payment within 30 days of receipt and acceptance of the material at site.
- 2) Only type written offer must be submitted. Hand written offer shall note be accepted.
- 3) Offer must be submitted as per specification of the N.I.T.
- 4) Please certify that offer rate are same as offered to other area of BCCL/CIL/other undertaking/Govt. Deptt. experience for supply the items must be enclosed.
- 5) Offers should be submitted in Two Bid systems:-
 - Part A contain Technical Bid & Commercial Bid.
 - Part B contain Price Bid
- 6) Prices fall clause and L.D. clause acceptance must be given in the offer.
- 7) E.M.D. will be return to unsuccessful Tenderer after finalisation of tender.
- 8) Earnest Money: An Earnest Money of Rs. 8000/- only in the form of Bank Draft only of a requiperated bank in favour of Bharat Coking Coal Limited payable at Dhanbad alongwith offer. Without depositing E.M.D. offer will not be considered. E.M.D. is exempted for those supplier who are registered with NSIC and DGS & D and ancillary unit of BCCL.
- 9) Tender documents may be collected of the office of the undersigned during working hours
- 10) Tender who participated through website must be deposited under fee of Rs. 1000/-only in favour of M/s Bharat Coking Coal Limited payable at Dhanbad.
- 11) Security Money Successful tenderer should deposit security money in the form of Bank Draft or BG 10% of the awarded value of the purchase within 15 days after receipt of order. But NSIC, DGS & D and ancillary suppliers are exempted from security money.
- 12) Sales Tax registration certificate should be submitted alongwith quotation.
- 13) Your offer must be valid for 120 days
- 14) Delivery period- within 3 months from the date of receipt of order.
- 15) FOR- Regional store, Kustore Area.
- Rate (Prices) must be quoted on FIRM PRICE and FOR destination basis with following break up.
 - a) Ex.-Works if any

- b) Freight, insurance, packing and forwarding charges separately if applicable
- c) Excise duty if applicable (It will be payable extra on Ex-works basis against documentary evidence.
- d) Sales Tax will be payable extra as applicable.
- 17) Each and every page of tender document must be signed and stamped.
- 18) Materials offered by the tenderers must be covered by tender's standard guarantee clause of 12 months from the date of commissioning or 18 months from the date of supply (which ever is earlier) against manufacturing defect/faulty workmanship/breakage etc.
- 19) BCCL reserves right to accept or reject any or all offers in part or in fully without assigning any reason there of No dispute of any kind can be raised against this right of the buyer in any court of law or else where.

Material manager (Pur) Kustore Area.

Ref. No. - SAT/PI/CKD/11-12/86

Date:

To,

The Dy. Chief Materials Manager PB Area, B.C.C.L. Dhanbad.

Sir,

We do submit our offer of the following items against your enquiry No. PBA/PUR/OEM/2011-12/97 dated 22.08.2011

Sr. No.	Description	Quantity	Rate	Amount
01	Brake liner 3/8" x 4" (Ferodo Liner)	15 Mtrs.	2247.00	Rs. 33705.00
				Rs. 33705.00
	(Rupees thirty Five Thousand Three	J.VAT @ 5%		Rs. + 1685.25
	hundred Ninety & Paise Twenty five only)	Gross Total		Rs. 35390.25

Quality - WA-8, Brand- COMPO

Make - HINDUSTAN COMPOSITES LTD.

TEMS & CONDITIONS

01) Payment - 100% within 30 days (2) FOR - Destination, (3) Validity - 180 days (04) Delivery - within 30 days (5) Guarantee - 12 Months form the date of fitment or 18 months from the date of supply.

Note - DGMS vide letter no. 414-424 dt. 24.06.2008 has recommended COMPO- WA - 8 quality of Hindustan composites Ltd. for the use in mining haulages and winders.

The OPM/OEM of the above item is Hindustan composites Ltd. and we are the authorised dealer, the price charged is as per the list price of our principal which is applicable for all govt. concern, PSU and for all areas of B.C.C.L.

Thanking You Sir,

Your's faithfully

Ref. No. - SAT/PI/CKD/11-12/87

Date:

To,

The Dy. Chief Materials Manager PB Area, B.C.C.L. Dhanbad.

Sir,

We do submit our offer of the following items against your enquiry No. PBA/PUR/OEM/2011-12/100 dated 26.08.2011

Sr. No.	Description	Quantity	Rate	Amount
01	Brake liner 3/4" x 6" with T.C.	09 Mtrs.	5998.00	53982.00
02	Brake liner $\frac{3}{4}$ " x 8" with T.C.	10 Mtrs.	7961.00 Total	79610.00 133592.00
	(Rupees One Lac Forty Thousand Two Hundred Seventy One and Paise Sixty only)		J.VAT @ 5% Gross Total	Rs. +6679.60 Rs. 140271.60

Quality - WA-8, Brand- COMPO

Make - HINDUSTAN COMPOSITES LTD.

TEMS & CONDITIONS

01) Payment - 100% within 30 days (2) FOR - Destination, (3) Validity - 180 days (04) Delivery - within 30 days (5) Guarantee - 12 Months form the date of fitment or 18 months from the date of supply.

Note - DGMS vide letter no. 414-424 dt. 24.06.2008 has recommended COMPO- WA - 8 quality of Hindustan composites Ltd. for the use in mining haulages and winders.

The OPM/OEM of the above item is Hindustan composites Ltd. and we are the authorised dealer, the price charged is as per the list price of our principal which is applicable for all govt. concern, PSU and for all areas of B.C.C.L.

Thanking You Sir,

Your's faithfully

Ref. No. - SAT/PI/CKD/11-12/88

Date:

To,

The Dy. Chief Materials Manager E.J. Area, B.C.C.L., Bhowra Dhanbad.

Sir,

We do submit our offer of the following items against your enquiry No. _____ dated _____

Sr. No.	Description	Quantity	Rate	Amount
01	Brake liner 3/4" x 8"	07 Mtrs.	7961.00	55727.00
	(20 mm x 200 mm)			
	,		Total	55727.00
	(Rupees Fifty Eight Thousand Five		J.VAT @ 5%	Rs. + 2786.35
	Hundred Thirteen & Paise Thirty Five only		Gross Total	Rs. 58513.35
)			

Quality - WA-8, Brand- COMPO

Make - HINDUSTAN COMPOSITES LTD.

TEMS & CONDITIONS

01) Payment - 100% within 30 days (2) FOR - Destination, (3) Validity - 180 days (04) Delivery - within 30 days (5) Guarantee - 12 Months form the date of fitment or 18 months from the date of supply.

Note - DGMS vide letter no. 414-424 dt. 24.06.2008 has recommended COMPO- WA - 8 quality of Hindustan composites Ltd. for the use in mining haulages and winders.

The OPM/OEM of the above item is Hindustan composites Ltd. and we are the authorised dealer, the price charged is as per the list price of our principal which is applicable for all govt. concern, PSU and for all areas of B.C.C.L.

Thanking You Sir,

Your's faithfully

Ref. No. - SAT/PI/CKD/11-12/89

Date:

To,

The General Manager (Excv.) Bastacola Area, B.C.C.L. Dhanbad

Sir,

We do submit our offer of the following items against your enquiry No. _____ dated _____

Sr. No.	Description	Quantity	Rate	Amount
01	Valve Assy. (F) 9183928/81400180	20 Nos	697.00	13940.00
02	Valve Extension 8" 9368908	20 Nos	560.00	11200.00
03	Tyre "O" Ring 18 x 25 89178785	30 Nos	135.00	4050.00
04	Valve Core - 9142286/1449T	50 Nos	150.00	7500.00
05	High Pressure valve for suspension	08 Nos	1930.00	15440.00
	81012175/PB2914			
06	connection valve for charging suspension	02 Nos	1930.00	3860.00
	VC 5227/778-T112023			
07	Clip air check 4660 A	02 Nos	820.00	1640.00
08	Large bore inflating and ganging	01 Nos	9000.00	9000.00
	instrument with 20 ft. Hose ND 6298- Fov -			
	20			
09	Swivel foot service tyre Pr. Guage 5566	01 Nos	1180.00	1180.00
			Total	67810.00
	Rupees Seventy One Thousand Two		JVAT @ 5%	+3390.50
	Hundred & Paise Fifty only)		Total	71200.50
			_	

-2-

Make - Schrader Duncan Ltd.

TEMS & CONDITIONS

01) Payment - 100% within 30 days (2) FOR - Destination, (3) Validity - 180 days (04) Delivery - within 30 days (5) Guarantee - 12 Months form the date of fitment or 18 months from the date of supply.

Note - OPS/OPM of these items is Schrader Duncan Ltd. and we are the authorised dealer. The price charged is as per list price of our principal which also similar to the R.C. of SECL certify that price changed is applicable for all govt. concern PSU and all subsidiaries of CIL.

Thanking You Sir,

Your's faithfully